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(2) Graph paper should be given on demand,
(3) Digits in the right indicates full marks. s
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Q.1. (a) Assign the four subjects to three faculty mménmm
their own. The matrix given below mdmates th‘?’ \sgfdgb;
maximum marks.
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(b) What is Monte Caglb
problem,
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(c) Solve the following LPP PR AT
Z=16X1+17 X2 +10X; i e

Bukject o, SR T Sl
X1+ Xo +4X;5 £2000; 2X+ Xp+X5 <3600, - ,v <3 ,‘ SRt
Xi+2Xo+2X3<2400: X1, X2 & X320 _;Q‘: ::--"-_‘.fi":'__' St Q o & S ae. W

Q.3 (a) Nagpur Orange Grower Association has thiree smﬁugﬁﬁnﬂ@ Og ¢
from threc {}rchards Transportation msts per tEnﬁ;;a[ﬁazlt:c& tzf Q,l‘chﬁﬂs; il
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(b) For a given nemopk\ﬂaﬁ ﬁfﬂ!ﬂ(ﬁ . : glermine the tot
and interfering ﬂaats:“and ﬂangfy ﬂ}e ' SRS T (10)
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Q4. (a) At a bﬂ@kjﬂg“ﬁd‘ndow | arrw&ﬁt %he*mieﬁf 1(} per minute approximated to
Poisson’s distntfuhnn. Tf the E' v nIﬂ ls eﬁcpvhemihlly distributed with a mean of 15 per
minute, determine. o -
a) thab-mmawook. g lek waits Emﬁa Wﬂ
_b) Pmbabllzityi her.aresf least 34cusiom§i‘$ in the queue
. ©) Avérage numbifly wwsm
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Q.5. (a) A company manufactures 30 units per day. Sale of
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which has the follo
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product is to be disposed off at a loss of
Us

Production cost and sales
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next ten days: 10, 99, 65, 99, 95, 01, 79°L

(b) A Company has a demand of 12,
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How many
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